"""""""" = P IR =3 T ﬁ;;,l—’a_ﬁ%—?’lzﬁ {AERHRB AL FEH
Pl B §~_ LT OFTRER T B R
E Tl LR ST QQ&QQﬁxQQJﬁAQOP‘%{:{O'——Mi%‘%g/g”

Bl e
P EAFOOOEOO! OOFHR
£ P
A IE PN ERE EXTAGED, BT

1 NP ey TG

piTdlE { 3TH < 3 1,000,000 | z&# (5 &) > & G¥03x

= 5\

2 | v g FTE F e B 15,000,000 | OO =7 % O#F i
3 | %5 g ; %ii: FY FERPT 1,500,000 | OO =& 5O 4«
4 | I FHEP T 1,500,000 | OO =& % O«
5 | %R 2 Y 1,500,000 | OO =& % O #
6 | f22% £ 1= @ 25 % 500,000 | OO 2 & %O i
7 |35 xradl 3,000,000 | OO =& % O Ak
8

&3t

e

1 |32 300 {376 L /3% 5/~ X3R4T 04 2 800, 000
2 |EBEID L ATEEF - /2 /ZH /- KFAR 2,500, 000

A B5 3K
3 | BES e xr - /= /= HP /- K FARAT B 2,500, 000

&3+
C =
1.2 P &= 3 EEaEd J’EE'H”'J“/% °
22RZLAETF > FRMEYN D REMFHEY o
2.5 T3 LATEF F 2 EFIRBI AN FFME T RAIREL WP A
R
AT FORERT BB B (LA RS R T

4t O00 (RFE/FA A E L X ER)
P E = OO0000 (L#7¢ 2 5 FF/E6 1 o2 2)



